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* Chemical energy — electrical energy
Lzidation reaction at anode [negative electrode) When the cell provides current,
spongy lead is oxidized to Pb2* and negative charge (electrons) accumulates on
lcad plates. The Pb2* ions formed combine with 5042 ions from H3S04 to form
msoluble PbSOs4,

Pb(s) - P)ﬁ‘f(aq) + 2e- (oxidation)
1762+(aq) + 5042 (aq) >  PbSO4 (precipitation)

Pbysy+ 5042 (aq) > PbSO4i+ 2™ (overall oxidation atanode)
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“ All ions are at 1M concentration in water.
“Fe™ Fe2e | py, Cu2, Cu'{Pt, Sn®*, Sn2*|P1, the order of writing ions in solution is imniaterial,

* All gases are at | atm pressure
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According to Wheatstone bridge principle
The resistance of a conductor is proportional to its length.

R (solution) Rx

keacy ko

: AAC)
Or R(solution) = Rx -
, - A®o) 'S %

By measuring the lengths AC and BC and knowing Rx,
solution can be calculated.
Cell constant b = k. R (solution)

The conductivity (k) of KCl solution i
be calculated.
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